Equation of a Para bola
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The verdex is given oy (h,K)

40 Write +he equation of a parabola given:

(0) vertex (-4,0); a=-3 #sub he-4 k0 a=-3
h k into a.bov(. sen&m\ €qua-ton.

s y=-3(+a)*

,.(.4.) +o on end
(by vertex (32); a= %

cy= (%3 +2

© verfex (’:3», 'g) through +he point (-3,10)
Sub h=-3 K=b (nto genera! equation.

Sub, a (X+3Y+p # Since we donYt Know
o 'gt a (("-'l;rg_z‘;b ?bubshhk— pgm+ 213 ‘éo: ]
s 4a+b )(,3) Then solve “or |
a:

“y=4 (x+3y+6



Eq® Determine. the value of k so that the graph of
3=-3(x+a) +k dasses through +he point (3,-7)

Sub. pt(<3-F) for (x,ﬂ') x=-3
Y= -3(x+a)" +k J

-3= -3(-3ta)”.+k

=% =-3(-N*+k
-F=-3(1)+k
3 - -3+k
—343=k
-4 =k Y= -3(x+a)*~ 4
Eg® Write the equation 2043 a partbola thot is
ruent 16" y=ax" With a minimum pt at (-3,4).
Y erdex
Same size = same velue for a’ (1) h=-2,k=4
oo a<=a

s Y= a(x+3)’ +4



